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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. There are total 8 questions. Answer any 5 questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Examine the notion that economic development
encompasses various dimensions beyond income and
its expansion, considering achievements in other areas
as well. In light of this perspective, analyse the
significance and limitations of the Human Development
Index (HDI) as an indicator of overall development.

(10,5)
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How far do you agree that the fundamental tension
between participatory and procedural aspects of
democracy in India has been responsible for hindering
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the development process? Do you agree that
authoritarianism is neither necessary nor sufficient for
economic development? (10,5)
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(a) Describe the prediction of “neutrality” of growth
rates concerning per capita income in the Harrod-
Domar model. Explicitly state the assumptions

regarding the parameters of the model.

(b) Consider the Solow model with a production
function Y(t) = AK(t)°L(t)'-%, where Y(t) is the
output at time t, K(t) and L(t) are capital and
labour employed at time period t, A is a fixed
technological parameter and o is a positive constant
lying between 0 and 1. Explicitly solve for the
steady-state value of the per capita capital stock

and per capita income. (9,6)
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Explain the implications for the growth process with
human capital when an endogenous technological
progress is associated with —

(a) deliberate innovation fostered by the allocation of
resources to R&D activity.

(a) externalities generated through actions of individual
firm’s capital accumulation or R&D. (8,7)
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Discuss, using game theory models, how self-governing
institutions can be useful for regulating the use of
common property resources when neither the state

governance nor the market is uniformly successful in
sustaining them. (15)
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(a) Discuss the idea of poverty as capability

deprivation with suitable examples.

(b) What measurement problems do we face in

international comparison of GDP? (8,7)
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7.  (a) Arguc that the ethical principles used in the f'
measurement of inequality are exactly summarized !
in the concept of the Lorenz curve,

(b) Draw the Lorenz curves and calculate the Ginni f
Coefficient for the following income distributions, %
The first sct of numbers represents the various
incomes, whercas the second set of numbers
represents the number of people earning each of

these incomes :
(i) (100, 200, 300, 400); (50, 25, 75, 25)

(ii) (100, 200, 300, 400), (50, 35, 55, 35)
(6,9)
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(i) (100, 200, 300, 400); (50, 25, 75, 25)

(ii) (100, 200, 300, 400), (50, 35, 55, 35)
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8.

Write short notes on any two of the following :
(7.5%2)
(a) The concept of convergence, with its variants, as

discussed in Solow Growth Model.

(b) Income Gap Ratio (IGR) and Foster Greer
Thorbecke (FGT) measures of poverty.

(c) Proximate causes for differences in incomes of

nations.

(d) Suppose van agent needs several licenses and
permits to be obtained from several government
agencies. Show how private buyers may be better
off when there is a possibility of collusion between
the agencies compared to a situation where the

agencies act independently.
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